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(62-65) 2-10 g quiliqywd, 10 Uy thgp mubitignn qGnhlp Yuhnjwd

62

63

64

65

L 12,8 ud tpyuwpnipjunip dtymuhs ptihg” hnphgnGuywb -
mnnué 0,5 S{ hGnmyghwyny hurfwubn SwqGhuwluG 5555
quyumd (6. 2): UwqGhuwlwl nwywh hGngmyghw =)
nnqjud t ntwh nhwunpnp: Otp pinh htw ptgmd 66 -
uhGst hnphgnGuliwl nhppG wjG hwppnipjulG dhy, npﬁ 3:3
niqubwjug t dwqGhuwljwl nupwh hGgmyghwjh Yty-
unphG L pwg pnnGmua: Onh nphiwnpmpinmGl wlnbuby):
Uquun wilyiwb wpwqugnitp 10 WP E:

Nppw®G t qlnhyh wpwgmpniGp hwjwuwpwypnnpjuG nhppny wigGhmnt wwhhd:
Muuwufuwlp puqiuywunltp 10- ny:

Nppw”G t. qGnhyh ypw wqnnn LnptlGgh mdp hwjwuwpwlpenipjul nhppny wiglGhnt
wwhh(: Muwunwuhnwlp puqiuywwnlytp 10°- ny:

Nppw”G k. gGnhyh wpwqugnuip hwjwuwpwynmpjw nhppny wigGtnt wwhh:

Nppw”G t phjh (updw nidp, gGnhyp hwjwuwpwynnipju nhppny wigGtin wwhh:
Muuwufuwlp puqiuywunltip 10%- ny:
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(6669) 1 Ug L 3 g qulqywony vmpphl qfnbpp Ywhuwjwd b6 ShLGnyG Ybwhg' 03 u

66

67

68

69

tplupmpjudp pltpng wjlybu, np qlnbpp hupfmd G6 hpwp: Onpp qubqyuony
qmbnp otymd 66 60° wljwG wwly L pwg ponGmy  hwnnppm] nbuh
hwjwuwpwlznnipymb nhppG nnnyuo L phthG ninpquwhwjwg 1 WA wpwgnipyniG: Onh
nhiwnnnipynii6 wGmbtub;: Uquunm wGliiw6 wpuqugniin 10 WP L

h*°Gs wpwgnipjwip & odnwo thnpp qubqyuony qniGnp vto qubqyuony qGnhG
pwfuytint ywhhG:

b°Gs wpwgnipjudp GG odnjwd qlntipp pugwnpdw ny wnwdquul hwpgwohg
wldhowytiu htinn: NMwunwufuwlp pwqiwwwwmybp 10-ny:

b°Gs pupdpnipjwl YhwuGhG qGntipp pugwupdwy ny wnwdquul hwpjwohg htimn:
Muuwufuwlp puqiuywunltip 104—nq:

Nppw”G vEluwGhyuwyw EGipghw Ytipwoytg otipdmpjwi qlGntiph puguwpdwy ny
wnwdquul hwpdwoh httmlwlpny: Muwunmwujuwlp puqiuwyunytp 10-ny:
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70

Onmud, oyymnhljwlwG utnwbh Ypw mtnungpyuo GG tpym T g Gl AZ
pwpul nuwGyuyltp, npnlg YhquitmwuihG htnugnpnt-
pmGGbpp Unpngny  hwywuwp 6 OuwGubGiph — 2, X
qiluunp  owwhjwywl wnwlgpGiphG mynuhwjwg, \F ] :‘_ZZF
GpwGg YhquitwmwyhG  htowdnpmpyjul  dnnnihG bNLAT B
hwjwuwn htinwynpmpywl Jpw mtnunmjuo b typwGp C

(GY. 3): Qwunwumb’p fuwl dunbtp htimlywy wGnmaiGkpp: a_, N<-"

IInuw Gjuy
L. 3

1. I-hG nuwGyuyp gpnn £, Gpypnpgp” hwjwpnn:

2. Qqfuwynp oyumhjwlwl wnwlgphlG gqniquhtin mwpwoynn a Gwnwqujpn,
wlgltny I-hG nuwGyuyp, paYlnd L qfuwynp oyyumhlyuwlwl wnwlgph L Eypwbh
hwwndw F Yhwnp:

3. Yhquitwnny whglnn & Swnwqu)pl, wigltny I-hG nuwGyuyp, payand t EypuGh
L qifuwynp owyunhlwlwl wnwlgph hwmdiwb F Yhwnp:

4. Qqfuwynp oywmhjwlwl wnwlgphl qniquhbtn mwpwoynn a Gwnwquph
wlgGbny II-pn nuw Gyuyp, nGyand £ typwGh C Ynp wylytu, np Gpu dnngh tn
2wnpniwynipniGl6 wGglnd L nuy Gyuyh dwju yhquytnny:

5. b dwnwqujpn, npp [I-pn nuy Gyuyh pupgujuympjuwb nhypnid EypwGh hbn
Jhwwnytp qifuwynp oymhjuywl wnwlgph L EypwGh hwmdiwG F Yhnnd,
nuy Gyl wlglhnig httmn pGlyGnd £ EypwGh E fanb wyGuybu, np Gpuw dtningh G
2wnniwlnipjnilG6 whglnd £ nuwGyulh dwju Jhquijtnny:

6. NuuGyuyGtpp Yhy Yuglhihu, hwdwlwnpgh owywhljwlwl nidp hwyjwuwnpybg
qnnjh:
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